MARKING SCHEME BSEH PRACTICE PAPER 3,10™ MATHS(Standard) ,

March2024
(ENGLISH MEDIUM)

Q. Expected solutions mar
no. ks
Section-A
11 (d)2520 1

(d) ptl !
(b) -10
4 (a) % 1
> | (b) -6lmn 1
6 (b) 7 1
7| (b) 8cm 1
° (a) 3cm '
9 | one 1
10 | () 1
11 | False 1
12 | 25 1
8
13 128cm 1
) coxmr? L
© 1 (a) 4mr? !
16 | (b) 25 1
171 (b)Mode= 3median-2mean !
18 17 1
(d)
19 | (a)Both Assertion(A) and Reason (R) are true and Reason (R) is the 1
correct explanation of Assertion(A).
20 | (d) Assertion(A) is false but Reason(R) is true. 1
SECTION-B
21. | Here a1=3,b1=-1,c1=-5
1/2

a2=6,b2=—2,c2=—k
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2 2 2 1/2
3_ -1 -5
6 -2 -
1 - 5
5 1/2
# 10 1/2
OR | x +y +40°=180° [sum of all angles of a triangle]
21
X+y= 1400 ............ (1) 1/2
x-y=30°...(2)
By solving the equation (1)
y =140° - x...(3)
Substitute y = 40° - x in equation (2), we get
x - (140° - x) = 30°
2x - 140° = 30° 1/2
2x = 30° +140°
2x =170°
X = 850 12
Substituting x = 85° in equation (3), we get 12
y = 1400 - 850
y = 550
Thus, x = 85°, y = 55°
22.
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1/2
B D c
In AABC and ADAC
BAC = ADC (Given in the statement)
ACB = ACD (Common angles) 1/2
AABC ADAC (AA criterion)
If two triangles are similar, then their corresponding sides are proportional
1/2
CA/CD=CB/CA
1/2
CA?2=CB xCD
Hence, proved.
23.
1/2

Downloaded from cclchapter.com




Since tangent at a point to a circle is perpendicular to the radius through
the point

0Q QP
&OR RP

OQP=90 & ORP=90

OQP+ ORP=90 +90°=180 ———(i) 12
In quadrilateral, OQPR,
OQP+ QPR+ QOR+ ORP=360° 12
( QPR+ QPR)+( OQP+ ORP)=360
QPR+ QOR + 180%=360° (From(i)
QPR+ QOR=180 ————— (i1)
From 1/2
(D&(1),
we can say that quadrilateral QORP is cyclic.
24| (1+sin8)(1—sind) _1—sin2 6 1/2
(1+cos0)(1—cos8) 1—cos? 0
cos? 1/2
T osin?
=cot?
_ (Z )2 1/2
8
49
_ 1/2
64
OR | We know that
24,
1/2

sinf® +cos20=1
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Let us cube on both sides

(sin? O + cos? 0)’ =1

By using the algebraic identity
(a+b)y)=a’+b’+3ab(a+b)

(sin? 0)3 + (cos? 0)* + 3 sin? 0 cos? 0 (sin? O + cos? 0) = 1

.......................................................................................................................

So we get
sin® 0 + cos® 0 + 3 sin? 0 cos?0 =1

Therefore, it is proved.

1/2

1/2

1/2

25.

We have to find the area of the shaded region.
From the figure,

Here, radius = 21 cm

Area of sector = nr?6/360°
0:+6,+063+0,=360°

Therefore area of shaded region = 1tr120:/360° + mr,20,/360° +
nr3263/360° + T[I’4ze4/360°

=nur? (81 + 6, + B3 + 0,) /360° rn=ry=r3=r

=(22/7)(21)*(360°)/360°

1/2

1/2
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=(22)(3)(21)

Area of the shaded region = 1386 cm?

1/2

1/2
Therefore, the area of the shaded region is 1386 cm?
SECTION-C
26. | Let's assume that 3 + 25 is rational. 1/2
If 3 + 25 is rational that means it can be written in the form of a/b where
a and b are integers that have no common factor other than 1 and b # 0. 1/2
3+2V5=a/b
b3 +2V5)=a
3b+2V5b=a 1/2
2V5b=a- 3b
V5 = (a - 3b)/2b 12
Since (a - 3b)/2b is a rational number, then V5 is also a rational number. 1/2
But, we know that V5 is irrational.
1/2
Therefore, our assumption was wrong that 3 + 25 is rational. Hence, 3 +
245 is irrational.
27 | x2 + 61 X -2 =61( 6x2 +X -12)= 63( 3x-4)(2x+3)
Hence% and_?s are the zeroes of the given polynomial. 1
S ........ f ............ _ ﬂ + (—_3)_—_1_—coef-f|c|entofx ..................................
um ot zeroes=3 2) 6  coefficient of x2 1
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4, (-3
Product of zeroes = 3 X (7) =—

__ constant term
coefficient of x2

28.

Given linear equations are:
x—-y+1=0
3x +2y -12=0

From eq. (1)
y=x+1

X -1
y 0 1

Points are (-1, 0) and (0, 1).

From(ii), 3x +2y -12=0
12-3

YT
X 4 0
y 0 6

Points are (4, 0) and (0, 6).

...................................................................................................................

We plot these points and draw the lines.
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1/2
%
From the graph, we see that the vertices of the required triangle are
A(_la 0)9 N(49 0) and L(za 3) 1/2
OR | Let unit's digit be y and ten's digit be x.Then number is 10x+y and
28. | number obtained on reversing the digits is 1/2
10y+x
1/2
given x +y =9....... (1)

.......................................................................................................................
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and 9(10x-+y) =2(10y+x)

90x+9y=20y+2x 1/2
88x-11y=0 8x-y=0............ (11)
Adding (1) and (ii),we get
x+y +8x-y=9+0 1/2
9x=9 x=1
Substituting the value of x in (i),we get y=8 1/2
Hence, the number is 18. 1/2
29.
Q
B
P
A e 1/2
Given: A circle touching the side BC of AABC at P and AB, AC produced
at Q and R respectively.
To Prove: AQ=1/2(Perimeter of AABC) 1/2
Proof: Lengths of tangents drawn from an external point to a circle are
equal.
AQ=AR, BQ=BP, CP=CR. 1/2
Perimeter of A ABC = AB + BC + CA
= AB + (BP + PC) + (AR - CR) 1/2
= (AB +BQ) + (PC) + (AQ - PC) [ AQ=AR,BQ=BP,CP=CR]
1/2
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=2AQ
AQ=1/2 (Perimeter of AABC)

AQ is the half of the perimeter of AABC.

1/2

30.

. sin 8—cosb+1
_sin@—cosb+1  —

sinf+cosf—1  Sind+coso—1

LH

__ tan6—1+sec6
tan6+1—secH

--------------------------------------------------------------------------------------------------------

(tan6+secH)—1
(tanB6—secB)+1

{(tan6+secB)—1}(secO6—tanB)
{(tanB6—sec B)+1}(secb6—tanb)

_ (sec? 8—tan? 8)—(secO—tand)
(tan 6—sec 6+1)(sec6—tan0d)

. (1—secB+tanB) {
(tan 6—sec 6+1)(sec6—tanB)

secO—tan®

1/2

1/2

1/2

1/2

1/2

1/2

Or
30

We take the height of the flying kite as AB, the length of the string as AC,
and the inclination of the string with the ground at C.
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.......................................................................................................................

sinC=AB/AC

sin 60° = 60/AC

.......................................................................................................................

.......................................................................................................................

= (120 x V3) / (3 x V3)
= 120V3/3
= 40V3

Length of the string AC = 40V3 m.

1/2

1/2

1/2

1/2

1/2

1/2

31.

Total discs are 90,numbered from 1 to 90.
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(i)Favourable two-digit numbered discs are 81(10,11,12,........... ,90)

probability of getting a two digit numbered disc = % = 1% 1
(ifFavourable cases for a perfect square number are 9
(1,4,9,16,25,36,49,64,81) .

probability of getting a perfect square numbered disc = 9% = 1—10
(i) Favourable cases for a number divisible by 5 are 18 (5,10,15,.....,90)

probability of getting a disc numbered divisible by 5 = ;—g =% 1

SECTION-D
32. | In a right triangle, altitude is one of the sides.
Let the base be x cm.
1/2
The altitude will be (x - 7) cm.
We can now apply the Pythagoras theorem to the given right triangle.
Pythagoras theorem: Hypotenuse? = (side 1) + (side 2)?
1
(13 =x>+(x-7)
169 =x*>+x? - 14x +49
169 =2x2 - 14x + 49
2x? - 14x+49 -169 =0
2x?-14x -120=0
(2x%-14x-120)/2=0
1

x2-7x-60=0
x?-12x +5x-60=0 1/2

.......................................................................................................................

X(x-12)+5(x-12)=0
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x+5x-12)=0
x-12=0andx+5=0 1

x=12andx=-5

We know that the value of the base cannot be negative.

Therefore, Base = 12 cm, Altitude =12 -7 =5 cm 1

Let Breadth = x.
Given that length is twice its breadth.

Length of the rectangle = 2x.

And given that Area of rectangle = 800 m? 1
But Area of rectangle =1x b =2x X x 1/2
2x2? = 800m? 1
x? = 400m?
1

.......................................................................................................................

Length of the rectangle = 2x = 40 m.
Breadth of the rectangle = x =20 m.

.......................................................................................................................

It is possible to design a rectangular mango grove. 1/2
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33.

.......................................................................................................................

In trapezium ABCD,
AB || CD

Also, AC and BD intersect at ‘O’

In AABC
OY || AB (construction)

BY/CY = AO/OC................. (1) (Basic Proportionality Theorem)
In ABCD
OY || CD (construction)
BY/CY = OB/OD................. (2) (Basic Proportionality Theorem)
From equations (1) and (2)

OA/OC = OB/OD

.......................................................................................................................

1/2

1/2

172
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OA/OB = 0OC/OD

Hence proved.

1/2

34.

3
E
Z
B
N
E

e

24cm

Radius of bigger cylinder = 12 cm, height of bigger cylinder = 220 cm
Radius of smaller cylinder = 8 cm, height of smaller cylinder = 60 cm

.......................................................................................................................

Volume of bigger cylinder=nr’h
=nx12?x220
=31680 mcm?

Volume of smaller cylinder=nr’h
—nx82x60
=3840m cm?

1/2

1/2
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Volume of the solid iron pole = volume of bigger cylinder + volume of
smaller cylinder

=31680n+3840m=355201 cm? 1
Mass of the pole =Density x Volume=8x35520n = 8x 35520 x 3.14 1
=892262.4 gm=892.3kg
OR
34
S mm
P 1/2
N 14 mm
Diameter of the capsule, d =5 mm
Radius of the hemisphere, r = d/2 = 5/2 mm
: . _ 1/2
Radius of the cylinder, r = 5/2 mm
Length of the cylinder = Length of the capsule - 2 x radius of the
hemisphere 1
h=14mm -2 %X 5/2 mm =9 mm
Surface area of the capsule = 2 x CSA of hemispherical part + CSA of 1

cylindrical part

=2 X 2xr? + 2nrh

.......................................................................................................................
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=2nr (2r + h)

=[2x22/7x52mm X% (2 x5/2mm+9 mm)] 1
=110/7 mm X 14 mm
1
=220 mm?
Thus, the surface area of the capsule is 220 mm?.
35. || Concentration | Mid-point (x;) Frequency () fixi

of SO> (in ppm)

0.00-0.04 0.02 4 0.08

0.04-0.08 0.06 9 0.54

0.08-0.12 0.10 9 0.90 o=

0.12-0.16 0.14 2 0.28

0.16-0.20 0.18 4 0.72

0.20-0.24 0.22 2 0.44

=30 =2.96
1
............................. 1 RPN - ISP N
mean= =-—— 1
:& .............................................................................................................
%0 12
=0.099 ppm. (approx.) 1
SECTION-E

36.

a¢ = 16000, ag = 22600
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a+5d=16000-----(1)
a+ 8d=22600 ------ (2)
Substitute a = 1600 -5d from (1) into (2)
16000-5d + 8d = 22600
3d =22600-16000
3d = 6600
d =6600/3 =2200
Using value of d in (1),we get
a= 16000 - 5(2200)
a=16000 - 11000
a=15000
(1) The production during 8th year,as = a+(8-1)d = a+7d=5000+ 7%2200=
5000+15400== 20400

(i1)Total production in first 3 years= 2{2 +( —1) }=
= 2(2 % 5000 + 2 x 2200)=3(5000+2200)-21600

(iii)
as = 16000, ag = 22600
a+5d=16000-----(1)
a+ 8d=22600 ------ (2)
Substitute a = 1600 -5d from (1) into (2)
16000-5d + 8d = 22600
3d =22600-16000
3d = 6600
d =6600/3 =2200
Using value of d in (1),we get
a= 16000 - 5(2200)
a=16000 - 11000
a=15000

......................................................................................................................

Let production in nth year be a, =29200, a=15000, d=2200
an=a+ (n-1)d
29200 = 5000 + (n — 1)2200
29200 - 5000 = 2200n - 2200
24200 + 2200 = 2200n
26400 = 2200n
n=264/22
n=12
the production in 12th year was 29200 .
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OR (iii) as = 16000, as = 22600
a+5d=16000-----(1)
a+8d=22600 ------ (2)
Substitute a = 1600 -5d from (1) into (2)
16000-5d + 8d = 22600
3d =22600-16000
3d = 6600
d=6600/3 =2200
Using value of d in (1),we get
a= 16000 - 5(2200)
a= 16000 - 11000
a=15000

............................................................................................................

.....................

a7 - a4 = 18200 - 11600 = 6600

1/2

1/2

1/2

1/2
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37.

-
s i i i i i #i L i ] - i
Y fem
o v 1 INDIA
F o1,
=l ﬁ A provren
s
-l 43 sminial
ks

Cdew Tieiteme

e ] x

X 1urm 1 23 & 66 7 8 9 10 132 | X
e o Bl ol T A

et pa—— | !
Gt L

L

Fapiare® MR

o
(LB =4/(0—5)2 + (7 — 10)2 =/(5)% + (3)? 172
~25+9 =34 km 12
.. . _,3x0+2x5 3x7+2x10
(ii)Coordinates of Kota (k)= ( 312 310 )
~ 0+10 | 21+20) 1/2
5 5

_(241) ...................................................................................................

5 12
(iii)L(5,10) ,N(2,6),P(8,6)
LN=/(2—-5)2+ (6 —10)2 =/(—3)2+ (—4)2=+/9+16 =25 =5| 12
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NP=/(8—2)> + (6 —6) =/(6)*+ (0)*= 6 12
PL=.,/(8 —5)2+ (6 —10)2 =/(3)2+ (—4)2=/9+16 =25 =5 "
i . i 1/2
As LN=PL # NP, so ALNP is an isosceles triangle.
OR (ii1)Let A(0,y) be a point on the y-axis then
AL=AP 1/2
V(-0 +(10- )2=/(8-0)2+ (6~ )?
(5-0)°+ (10— )’=(8-0)°+ (6~ )’ 172
25+100-20y + y? = 64 +36 -12y + y?
8y=25
25 1/2
My
So, the coordinates of point on y-axis are (0, E)
1/2
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38.

P a6.cm » (O

(1)In right angled A :

c0s300 = — = —

.......................................................................................................................

OB=24+/3 cm

1/2

1/2

(i1) In right angled A :

tan45°= — 1=—

...................................................................................................................

AP=0P
AP =36cm
Height of the section A from base of the tower = AP =36cm

1/2

1/2

(i11) In right angled A :
tan30° = —

.......................................................................................................................

In right angled A :

tan45'= — 1=—
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AP=0P
AP =36cm

1/2

Distance AB = AP-BP =36 -124/3 = 12(3-V/3) cm 1/2
OR (ii1) In right angled A ,
tan30° = — |
BP= OP tan30° = 36 —= = 12V3 cm
Area of A =%>< x :%XSGX 124/3 = 216v/3 cm? |
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MARKING SCHEME, BSEH PRACTICE PAPER 3,10™ 1f0rq (A19%),
March 2024 (§&Y aTeTsT )

Q. no. Expected solutions marks
YUus-&h
! (d)2520 1
2 [(dpt 1
2 [(b) -10 1
> (b) -6lmn 1
” | (b) 8cm 1
° (a) 3cm '
9 ES 1
10 O 1
11 1
dTeld
12 25 1
8
13 28 cm 1
(b)) xmr? 1
B (a) 4 1
16 (b) 25 1
Y| (b) ggelh = 3 HIEAH - 2 ATEY !
18 ( d)ﬂ 1
19 ()WW(A)ﬁTH*(R) aer wér § 3R aF (R), !
3T (A) T TE AT FAT B
20 (d) 3FHUT (A) T 8§, W] T (R) FET B 1
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21 Z]%'\rl al=3,b1='1,C1=_5 1/2
a2=6,b2=—2,c2=—k
S gT Aol & faw ; =122 12
2 2
.......................................... 3__1_5
6 -2 -
1 - 5
i — 1/2
# 10 1/2
3ar21 | x +y +40°=180° [f3efst & @l =hlvil &1 e 2
X+y=1400............ (1)
x-y=30°.....(2)
FHIRIUT (1) Sl &l Hleh
y = 1400 - x...(3)
HHRIOT (2) H y=40° - x @A W §H 9Iod &IdT &
X - (140° - x) = 30° 12
2x - 140° = 30°
2x = 30° +140°
2x =170° 2
x = 859
HHIEOT (3) H x = 85° YfaATAUT el W, §H 9Ied
gir g
y = 1400 - 85° 1/2
y = 550
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3 :, x=85% y=55°

22.

AABC 3iR ADAC &

BAC

ADC (f&ar & )

ACB

ACD (33gfass &hioT )
AABC  ADAC (AA F&IET)

Ifg ar e AR g1 ol 3oTehl HI SV FATATH
gl &

CA/CD =CB/CA

1/2

1/2

1/2
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CA? = CB x CD

1/2

3. ey g3ml
23.

1/2
dfeh g & Teh fog T T @1 39 fdg & IR arell
BT W o«ad gidr g

oQ QP
& OR RP 1
0QP=90 & ORP=90
OQP+ ORP=90 +90°=180 ———-(i)
TJ8leT OQPRA,
OQP+ QPR+ QOR+ ORP=360° i
( QPR+ QPR)+( OQP+ ORP)=360
QPR+ QOR + 180°=360° (GHIHIOT()))
QPR+ QOR=180 ——-—-—- (ii) i

FHEEoT(i) 3R (ii)A)
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§H $g Tohd § o TsleT QORP ThIY

24,

(1+sin@)(1—sing) 1—sin?6

_ 1/2
(1+cos0)(1—cos8) 1—cos2 0
_cos?
"~ sin2 1/2
2
.
- 2 = (- 1/2
cot (8)
_ 49 1/2
— 64
YAl | gH A g b 2
24. sin2@+cos?0=1
gl % a et T
(sin 8 + cos? 6)3 =4l 1/2
NN TIGTHST (a+b)3=a+b3+3ab (a+b) FHT IGAT
e W
(sin2 9)3 + (cos2 6)3 +3sin® 0 cos® 0 (sin2 0 + cos? 8)=1 1/2
got e &
sin® @+ cos® B +3sin?0cos’0=1 1/2
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T8 ey T o |

25. | IR ANt W IR BASI@us 9o § fOTd 93 & Faar
r=21cmddl MY FeiiT AT A, B, CTT DEI 1/2
[ A+ B+ C+ D=360" TJHl & MY iUl a1 ]
STAThd &1 T & Ahel= 1tr1201/360° + 11r,20,/360° +
nr3293/360° + rtr4264/360° 1/2
:'}frm('é'l:é;:'e';'é;)m/'s's'é'c;'""""'Fl'”:"}'z';'}';;ﬁ .......
= nr2 (360°)/360° 2
=Tr
;..2..2.;.(.25.2 ..........................................................................
=22x63
= 1386 cm?. 1/2
3 SIohd &1F T 31ise & F%eT = 1386 cm? &

QUs -7

26. | 33T AT of & 3+ 2vs akAT B 1/2
afg 3+ 2v5sIRAT & ar s@er 37T § & 39 a/b
& & H @ ST Gevell § 6T a 3R b Uil g
fSistert 131X b2 0 3fella A @igm IUHAES

1/2
e &I /
3+2V5=a/b
b(3 +2V5)=a 12
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3b+2V5b =2

2V5b=a-3b

1/2
V5 = (a - 3b)/2b
e (a-3b)/2b Ueh URAT HEIAT g, dl v5 3T Tk
aR&T T
1/2
dfreT, 87 I § & vs 3aR&AT &
gala, gAY GROT Tad &Y T 3+ 2vs 9RAT 81 |12
3d:,
3+ 2v5 IRAT g
27. x2 + 61 X -2 =6i( 6x% +X -12)=61 (3x-4)(2x+3)
3T, S and— T T aguE & eaF L '
_ —3\ _ -1 _ —X®IOMH 1
%Faaﬁa:raim——+(7)—?— e p——
YR T IOAHS = 3% () =—2= B 1
2 X2 T I[0TThH
28. | few v Y@w wHewoT §
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FHEOI(iI)T , 3x +2y -12=0

_12-3

Y=7"3
X 4 0
y 0 6

g 37 Sgatt & maf@d v § 3R Yt diea €
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%
| i 1/2
-
qH F, §H 3Wd ¢ o 3riise gt & Mg A(-1,
0),N(4, 0) 3R L(2, 3)&l 172
HUAT | FAAT ShIS HI 3 yg 3R GaIe HI 3 xgl dg &
28. 10x+y§' 3R 1/2
37T I Jelce T ITod T&AT =10y+x
maxw:g ................. (.) y
'3}\;5("1'6;;)' .;.é.(..l.(.).;).( ) ........................................
90x+9y=20y+2x
88x-11y=0 8x-y=0............ (ii) 1/2
(i) 3R (i) ST W, g 9Ied BIam &
1/2

X+y +8x-y=9+0
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(i) & x a1 AT gfaeafig #a W, g# y=8 9reg giar ¢ | 1/2
1/2

37d: TEar 18%|

29.
Q
B
1/2
P
2 c R

fear &: e g AABC 1 #fsm BC &I P WX 3iR AB

dar AC & HAA: Q IR R dd  Foe 9T T

AT gl

&y =T & : AQ=1/2(AABC & 9R&ATd) 1/2

yAToT: fohell STEd g @ g WX Wi 75 Tt Y@

T eSS gl gl 12

AQ = AR, BQ =BP, CP =CR.

AABC 3T AT = AB + BC + CA

= AB + (BP + PC) + (AR - CR) 1/2

T e N

L

=2AQ 2

AQ=1/2 (AABC ST TTR&HATY)
".AQ ,AABC & YR&ETT & e gl
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30.

. sin 6—cos6+1
_sin@—cosb+1  —————

sing+cos—1  SNO+cosb—1

LHS

__tan©6—1+sec®
tan6+1—secH

(tan6+sec6)—1

(tan©6—secH)+1
{(tan6+secB)—1}(sec6—tanB)

{(tan 6—sec B8)+1}(secb—tanB)

_ (sec?6—tan?8)—(secO—tanf)
(tan 6—sec 6+1)(sec6—tanB)

(1—secB+tanB)
(tan 6—sec 6+1)(sec6—tanB)

{ sec’f—tan’0 =1}

secO—tan®

1/2

1/2

1/2

1/2

1/2

1/2

3dar
30.

& 33T g9 fT IS AB, 3 FiT Fars AC 3k
STHIT & Y 3R & Sfhd LC T o B
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1/2

AABC # ,
1/2
sinC=AB/AC
sin 60° = 60/AC
V3/2 = 60/AC 1/2
P )
1/2
e Rl
=120v3/3 1/2
=40v3
Y fr ofars AC = 40473 m. 1/2
31. | (i) ol TSR 90, TSTeTeh E&AT 18 90 T &
eIkl al-37hId shAifehd 38R 81(10,11,12,.......... 908 |,
aY 3T FATR B TIod gl T WREAT = = —
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(i) IOT &7 FEm & U el Eufaar 9
(1,4,9,16,25,36,49,64,81) ¢

T qoT a@ FHifRd e ared ae B wfedr =
_1 1
10
(iii) 5 & TaTe FE&ar & v efehel FEATAAT 18
(5,10,15,......,90) & 1

5§ faerTsw wear areh v feer & wfdedr =

1
"5

. @Us-g¥
Teh FHDIUT T & 3AS Teh ol gl &l
AT o 3MUR x QT & 12
A5 (x - 7) QT gl
3 gH UISUTIRA YA HI QU a0 FAROT Fegst
o] &Y Hehel B |
1
UISUTIRE TAL: (H0T)? = (3=71)? + (3T 2)°2
(13)2 =x% + (x - 7)*
169 = x? + x% - 14x + 49
169 = 2x° - 14x + 49
2x% - 14x + 49 -169 = 0
2x? - 14x-120=0
1
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(2x% - 14x-120) /2 =0
x2-7x-60=0

x2-12x +5x-60=0 1/2
X(x-12)+5(x-12)=0
(x+5)(x-12)=0
x-12=0andx+5=0
1
x=12andx=-5
gH Sd & & 3R T AT HONMcHS ol & Tehdrl | 1
AT, 3TUR = 12 8T, FA1S = 12-7 =5 FHT
AU | HEAT FIEE = x.
32.
fer am § T oiers sue Gl ¥ aR g
mﬁﬁﬁﬁl@=2x.
3R feam a=ar & 7% 39a & & a%e = 800m? § 1
1/2

el 3TTIT T & 9%l = Ixb=2xxx
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2x% = 800m? 1
x> = 400m? .
x=20m  (-20 37EH §.)
A &7 o€ 8 = 2x =40 HeI| 1
A & 9@ = x=20 HX
1/2
33.
1/2
e ABCD #,
1/2
AB || CD
arg &, AC 3R BD 'O' X ufawde axd &
AB 3R CD & FHAECR O & IeRal atel XY &I Tl X (XY
| AB, XY || CD) 2
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AABC #

OY || AB (RT=TT &)
BY/CY = AO/OC................. (1) (3TaRT 1

THATTIT AR FHY)

gHoT (1) 3R (2) & 1
OA/OC = OB/OD

= OA/OB = OC/OD 1/2
3 ey g3 |

CIn,

6 cm

220 cm

" i 1/2
o S

24cm
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I3 dofeT &1 BFear = 12 T, 93 S 1 Fa1s = 220 JAT
BT S $r B3 = 8 JeY, B dalad T FAS = 60 AT

1/2

=rx122x220 1
=31680 icm>
BIE FoleT &1 3MIGT =nr2h
=nx82x60 1
=3840m cm>
3G g & TH T AT = 98 Joled bl AT + DI doled T | 1
3IdT= 31680m+3840m=355201m cm”>
. 1
TR B geTHAT =Helcd x T =8x35520m = 8x 35520 x 3.14
=892262.4gm=892.3kg
37T
34. 5 mm
. - 12
14 mm
refaner fr sar, r=d/2=5/2 A 2
SoleT &1 B3, r=5/2 A
1

Solel I oS = Hogel T daTS - 2 x LA S AT

h=14mm-2x5/2mm=9mm
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FHA FT IO &1Thel = 2 x IINATRR AT &HT a5 TSI

A + Sololleh AT T Th JSOIT &hel !
=2 x 2nr? + 2mrh
=2nr (2r + h)
1
=[2x22/7x5/2mmx (2x5/2mm+9 mm)]
=110/7 mm x 14 mm 1
=220 mm?
35. - - o

SO, &Y Riee (x) | SRERET(f) iXi

HIgdT

(drdros

#)

0.00-0.04 0.02 4 0.08

0.04-0.08 0.06 9 0.54

0.08-0.12 0.10 9 0.90 21

0.12-0.16 0.14 2 0.28 2

0.16-0.20 0.18 4 0.72

0.20-0.24 0.22 2 0.44

=30 =2.96
1
[1] H [1]
1
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= 0.099 ppm. (eI3T3)

N| -

36.

a6 = 16000, a9 = 22600
a+ 5d = 16000-—---(1)
a + 8d = 22600 -----(2)

(T (2)F a=1600-5d @A W

16000-5d + 8d = 22600
3d =22600-16000
3d = 6600
d = 6600/3 = 2200

()H d&F AT & 3TART H W, g 9red gar &

a = 16000 - 5(2200)
a=16000 - 11000
a=15000

(i) ATET aY & SRl 3c4TesT,ag = a+(8-1)d = a+7d=5000+ 7x2200=
5000+15400=

=20400

(ii) & 3TNl H Fol ScUTes =g{2 +( -1) }=

= %(2 x 5000 + 2 x 2200)=3(5000+2200)=21600

(iii) a6 = 16000, a9 = 22600
a+ 5d = 16000-—---(1)
a + 8d = 22600 -----(2)

()T (2)F a=1600-5d TWA W
16000-5d + 8d = 22600
3d =22600-16000
3d = 6600
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d = 6600/3 = 2200
()H dF AA T 39IRT A W], §H IIed &I &
a = 16000 - 5(2200)

a= 16000 - 11000 1
a=5000
AT nd dY H 3cUTga an =29200, a=5000, d=2200
an=a+(n-1)d
29200 = 5000 + (n — 1)2200
29200 - 5000 = 2200n - 2200
24200 + 2200 = 2200n
26400 = 2200n
n=264/22 1
n=12
120 aY & 3c9lesT 29200 2T |
OR (iii) a6 = 16000, a9 = 22600
a+5d=16000-----(1)
a + 8d = 22600 ------ )
(T (2)F a=1600-5d T@A |
16000-5d + 8d = 22600
3d = 22600-16000
3d = 6600
d = 6600/3 = 2200
()H do AT HT 3AET e W, §H 91T 8l &
a = 16000 - 5(2200)
a= 16000 - 11000 1/2
a=5000
1/2
as = a+3d =5000 + 3 (2200) = 5000 + 6600 = 11600
a7 =a+6d =5000 + 6 x 2200 = 5000 + 13200 = 18200 1/2
a7 - A4 = 18200 - 11600 = 6600 1/2
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37.

i 4 B 00 ames oo
‘. 3 I-llh-l'lu-.
N - AT Tt i
W = |
v CladngCupal % L -
x gl 1 23 4 6ne T 8§ W ALR ] X
|
o
(i)LB = /(0 = B)? + (7 — 10)2 =/(5)2 + (3)? 1/2
=25+9=\/37km ....................................................................... y
) P (k) 3 e (U8 FTA0
0+10 21+20 1/2
<75 )
_41 ................................................................
(2’? 1/2
(iii) L(5,10) ,N(2,6),P(8,6)
LN=/(2—5)2+ (6 — 10)2 =,/(—3)2+ (—4)2=/9+ 16 =25 =5 1/2
NP=\/(8—2)2+(6—6)2=\/(6)2+(0)2=6 ................................... "
P|_=\/(8—5)2+ (6_10)2=\/ (3)2+ (_4)2=9 - 16:@ By .
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I LN= PL# NP, SEIT ALNP Ush HHeideaTg TH97sT B

1/2

OR (iii)
A AfAT & A(0,y) y-318T R T fog & aw
AL=AP

JE—07+(10~ Y= /@07 + (6~ )
(5-0)2+(10~ )*=(8~0)+(6~ )’

0 a 25
safaT, y-3me1 R g & e o 2R |

1/2

1/2

1/2

1/2

38.

A

g 4 30"
P36 cm ——> 0

(i) THPIUT AOPB H,

cos30° = — =32

1/2
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OB=24+/3cm

1/2

(ii) ) THPITT AAPO H,

tan45%= —  1=—

AP =36cm
T & YR & TS A FT A5 = AP =36cm

1/2

1/2

(iii) THPITT AOPB H,

tan30°= —

tan45%= —  1=—

AP=0P
AP =36cm

a8 AB = AP-BP = 36 -121/3 = 12(3-v/3) cm

1/2

1/2

OR (iii) THRIUT AOPB H,

tan30°= —

BP= OP tan30° = 36x ig= 12/3 em

AOPB T &1thel =%>< x =%x 36 x124/3 =
216+/3 cm?
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